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QUESTION BOOKLET

This question paper contains 17%%}‘lestlons /38 W TH 170U E |
All questions are compulsory. /
One question carries half mark only. / T& 7%= %WW AT 37 & |

Total Marks : 85 aﬁw 3% : 85
Time : 2 Hours . 2 g
1.  Who has won the 2017 Kenya Presidential Election ?

(A) Uthuru Kenyatta (B) Y. Museveni

(C) Raifa Odinga (D) William Ruto

Tgafd gAE-2017 fehe Sftar 2
(A) EHI@  (B) TE. oA (C) W aNfem (D) Toform &

2. Maheshwari Chauhan is associated with which sports ?
(A) Boxmg (B Chess (C) Cricket (D) Shooting
<ITEM bl et © T 2 2
(A) FeaaTSht (B) RS (C) Tohehe (D) TaemaTSh
3.  What is the theme of 2017 International Youth Day ?
(A) Youth and Mental Health (B) Youth Building Peace
(C) Youth Civic Engagement (D) Change Our World
IR Far feag-2017 H fm g 2
(A) J¥ TS HUZA Be (B) 3 fafeen da
(C) 7Y Tafass wism= (D) I TR T8
4.  Who has been appointed as the new Chief of the Central Board of Film
Certification (CBFC) ?
(A) Shyam Benegal (B) Prasoon Joshi
(C) Naresh Chandra Lal (D) Vivek Agnihotri
fpen ymo &g (CBFC) 1 w1 37exet fordt feges fepam o 8 2
(A) T SHITA (B) g Sieft
(C) T =5 AT ) REEEIIPHEI

5.  Which Nationwide Campaign has been launched by the Union Government to
protect elephants ?

(A) GajKesri Yatra (B) Gajanan Yatra
Gajraj Yatra (D) Gaj Yatra
ET%EI‘( o TETUT b foTT Shrg TR T <L T ShIF |1 S & foha1 T 8 2

(A) T HEGAST (B) TFEA AT (C) TSI (D) TS Im
6.  Which State Government has launched mobile therapy vans for elderly people ?

&A) Bihar (B) Assam (C) Uttar Pradesh (D) Kerala
fohel T TR A Jeg SHI o ToTq HiaTser ARt o TR <hi
(A) fesr (B) 3™ (C) I YW (D) HA

7. M. Venkaiah Naidu has been sworn-in as 13" Vice-President of India. He hails
from which state ?
(A) Karnataka (B) Tamil Nadu
(C) Maharashtra (D) Andhra Pradesh

TH. JhaT AT9g WA <139 IT-TFANT o6 T H IMY Al | o foh T h T ATl & ?
(A) Fleh (B) dfteMig  (C) WEWIg (D) 3T 9¢q
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10.

11.

12.

13.

14.

Which state government has launched a new awareness drive “Namami Gange
Jagriti Yatra” ?

(A) West Bengal (B) Bihar (C) Uttar Pradesh (D) Uttarakhand
foh® T3 HThR = T SIFTEhdT STTHAT “FHTH T/ STAJf AT TR Tehall @ 2
(A) Ufm s (B) faer (C) I I (D) STETE
India’s first micro forest will be built in which state ?

(A) Madhya Pradesh (B) West Bengal

(C) Uttar Pradesh (D) Chhattisgarh

W oh1 SIUW H&H 94 (ATS3hl ®ivee ) Tord s # FfHa ferem ST 2
(A) #R= YW (B) UREH WA (C) IW I (D) BheTe

Who has been appointed as the new Chief Justice of India ?

(A) G.B. Pattanaik (B) Deepak Misra

(C) KK. Mittal (D) Ranganath Misra

YTLd o1 13 & =Arnefier fendl fgeh fopan T 8 2

(A) St weares (B) duss fism (C) . i (D) Ty firy

Who has been appointed as the brand ambassador for Swachh Bharat Mission
in Uttar Pradesh ?

(A) Sachin Tendulkar (B) Amitabh Bachchan

(C) Akshay Kumar (D) Aamir Khan

I I T TS WA i o S1Ue Ureidet o €9 ¥ fohd T3 fohan w8 2
(A) "feF dgaet (B) A s=d (C) JTIFAR (D) R EH

India’s first helicopter-taxi service will start in which city ?
(A) Bengaluru (B) New Delhi (C) Chennai (D) Kolkata

YT sl T BicTehiet— ol HaT fohd ITat 1 3[& hl SRift 7

(A) FTIE (B) WEfeeelt  (C) == (D) hIcTehIdl
Which state government has launched Aadhar-authenticated Direct Benefit
Transfer Portal “MahaDBT” ?

(A) Kerala (B) Mabharashtra

(C) Madhya Pradesh (D) Uttar Pradesh

ford TSI TTHR o ATUR-3TAfhes side sfhe gM® 9Idd “MahaDBT”
T T 8 2

(A) A (B) #eWg (C) =& W (D) IR e
Indian Army has developed which mobile app for soldiers to track promotions
and postings ?

(A) Soldier App (B) Humraaz App

(C) Army Cloud App (D) Track Post App

T BFT 3 Bfepi o foTu sem 3R qifeema =1 qar v o6 foru s i Hiemsa wo
i@ g 2
(A) HiesRWd  (B) gUSITT (C) A T8 W (D) ¢ U W
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15.

16.

17.

18.

19.

20.

21.

22.

What is the theme of 2017 World Breastfeeding Week ?
(A) Sustaining Breastfeeding Together

(B) Breastfeeding : A key to Sustainable Development
(C) Breastfeeding : SDG 2022 goals

&D) Mother’s Absolute Affection

v TAaH qH1E-2017 ht AT I R 2

(A) TR sEihisn et (B) SEfBET : Tl g aEead Saaui=
(C) srefpfém . ta St 2022 Med (D) e TSHITIE 3Thas

Himachal literally means

(A) Greenland Belt

(B) Land of snowy mountains

(C) Land located among Himalayan mountains
D) None of these

T T 7 7
(A) Hietvg e (B) TEAT=sIiCa TaTel i YH
(C) femmer < vgrei # fedra ofw (D) 0 O HIs &l

By what name “Shivalik hills” was known to the ancient ?

(A) Manak Parbat (B) Naga Parbat
©) %m;a Hills (D) Trigarta Parbat
EAREENNES T forg A @ 9Ta off 2

(A) AMF IS (B) AW 9 (C) = ugifeai (D) Frrd ydda

The river ‘Beas’ rises from

(A) Baralacha pass (B) Rohtang pass

(C) Shipkila pass (D) Zozila pass

“STE’ T¢I Hal § FMeperd! § ?

(A) e (B) Wedmad  (C) Robienad (D) Shfvren o

The ‘Dudhon’ and ‘Parbati’ glaciers are located in which district of H. P. ?

(A) Kangra (B) Chamba (C) Kullu (D) Sirmaur
gl AR} %ﬂqﬁm%nmamé; et v feua @ ¢

(A) e (B) =l (C) ool (D) TR
‘Chobia pass’ is located on the border of

(A) Chamba-Lahaul (B) Kullu-Lahaul

(C) Manali-Kinnaur (D) Mandi-Kullu

“Tiferr et forgehl dimm @ fea 8 7
(A) TH=I-dRA  (B) Pooamd  (C) FAEH-fRER (D) HUSl-Fpoel

The ‘Hangrang’ valley is located in which district of H. P. ?
(A) Kinnaur gl%m%Lahaul -Spiti (C) Chamba (D) Kullu

T =1él fgree f@m% ?

(A) TRaR (B) wE-ffd (C) =wa (D) Feel,

The Shivpuri spring is located in which district of H. P. ?

A) Solan (B) Mandi (C) Kullu (D) Sirmaur
ST TeTeet Sew < fopd i w fa g 7

(A) g (B) wuel (C) ool (D) TR
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23. Sukhsar lake is located near

(A) Nauni (Solan) (B) Damtal (Una)
(C) Rewalsar (Mandi) (D) Jubbal (Shimla)
EE 3 39 T fea &
(A) I (Ere) (B) <HAH ()
(C) Tearerer (7ue) (D) Ssu (RRret)
24. Saproon valley is in
A) Solan (B) Una (C) Sirmaur (D) Hamirpur
RIEAR

(A) | (B) H (C) TowmH (D) BHIgLH
25. In the pre-vedic period Shiwalik Hills were inhabited by

(A) Dasas _  (B) Kinners_ (C) Aryans (D) Nagas

Ia-afeeh et # TRranforeh gaTfedi | & FHarE d 9 7

(A) <T@ (B) TR (C) 3w (D) AFT
26. Pandavas (probably) spent their twelve year exile in

(A) Bilaspur (B) Sirmaur (C) Mahasu (D) Kaza

qTUSEl = (FYEd:) 3TUT SRE Y Sl S-HaTH J&T foram :

(A) Teemage (B) TR (C) wa. (D) el
27.  Who supported the Kirata King Shambra in the Kirata-Aryan War ?

(A) Matasaya Naresh (B) Verchi

(C) Drugana _ (D) Shringi Rishi

-3 Yg | Tohtra Tt STt <hl g fohe hl 2 ’
(A) T T (B) o= (C) o (D) *Fft =N

28. The Founder of Kahlur (Bilaspur) was from
(A) Malagarh  (B) Ambala (C) Bundelkhand (D) Chittor

hEe (T EqY) 1 geamae o1 .
(A) HATTG (B) 3mTel (C) SeoEve (D) fu<ite

29. Who transferred the seat of government from Brahampura to Chamba (920 AD) ?

(A) Mushan Varman (B) Hans Varman
%C) Sahil Varman (D) None of these
&Y. 920 T ToheH TG 3l TETGL H =FT SN fohaT 2

(A) WASHA  (B) g (C) wfe@r =™ (D) 36 4 &I 76

30. The earliest seat of the rajas of Kullu dynasty was at

(A) Delhi ~(B) Magadh  (C) Haridwar (D) Prayag

ool I o AT ohl STRIEE TEg! el ol ?

(A) Teeefi (B) #mE (C) ®fgrR (D) Sram
31. M.K. Gandhi visited Shimla for the first time in 1921 and stayed at

(A) Shanti Kutir (B) Peterhoff

(C)_ Idgah Maiden (D) Rothney Castle

T, M 4 1921 4 gefl ST et s getrehrd «f o 3R 81 3e 3
(A) WP (B) dlew™®  (C) SamEHE (D) U HHA (WE)
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32.

33.

34.

3S.

36.

37.

38.

39.

40.

Who was the leader of “Dhami Satyagrahis” ?
(A) Bhag Mal Sautha (B) Padam Dev
(C) Gulam Rasool (D) Prithi Chand

“qT} AR & dT HiF &1 ?
(A) WTHAHAT (B) WeH <& (C) T™mES (D) wfiT<

The ‘Jads’ are found in

(A) Pangi (B) Rampur Bushahar
(C) Hangrang Valley (D) Sangla Valley
EEHI D)

(A) 9t & (B) TAREWEH (C) TRGdd (D) FFTem &1t §

The Gaity Theatre of Shimla was opened in the year

Tere o1 ) et 38 9N § ger o

(A) 1887 (B) 1892 (C) 1903 (D) 1909
‘Bakarmala’ festival is famous in which district of H. P. ?

(A) Kangra (B) Shimla (C) Chamba (D) Mandi
TR Icqel fgrTeret T o feohw et 4 wfdrg & 2

(A) il (B) fomen (C) = (D) wUEt

Amrita Shergil was associated with which of the following places of H. P. ?

(A) Kullu (B) Paonta Sahib (C) Manali (D) Shimla

T T ferreret Sewr < o | @ fobe T @ et @ 7

(A) FooL (B) Uk Higs (C) HATCHl (D) fomen

Who wrote the book ‘Suraj di Pahli Kiran’ ?

(A) Shanta Kumar (B) Dr. Banshi Ram

(C) Ramesh Chauhan (D) None of these

(A) MAFIR  (B) SL.&MI@ (C) WAARH (D) 94 9 B Tl

Shanan hydel power house is located at

(A) Jogindernagar (B) Chamba

(C) Wangtoo (D) Kibber

3 Tfega I g1 2rd & .

(A) SUFFEEFR (B) = (C) g (D) fersst

Swami Vivekanand Hospital is located at
(A) Shimla (B) Hamirpur (C) Palampur (D) Dharamshala

Tt fereeh 31EdTe
(A) R (B) &R (C) dTeH g (D) GHITe

Which sportsman is known as Himachal Express ?

(A) Tekchand Bhandari (B) Ramesh Tamta
(C) Kamlesh Sharma (D) Dalip Singh Rana
Torw et =1 Teurarel Toese & STHT SIAT 8 2

(A) IFhE<uUeHl (B) Wy dmar (C) wHem AT (D) cofiu fag Tom
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41.

42.

43.

44.

45.

46.

Tides are caused by

(A) gravitational pull of the Sun and Moon

(B) seismic vibrations under the Earth

(C) violent activity under the Sea

(D) None of these

SIR-UET AH BTG

(A) T 3R T3 1 o™ Ra=ma (B) gt o Wit et e
(C) g % iR v=vs nfafafemt (D) 30 A IS &

A rocket 1s propelled by

(A) the nuclear fuel (B) the force of escaping hot gases
(C) _the batteries (D) None of these

Teh Uehe Teperdl Somifed Biel & 7 .

(A) TR g (B) uelrat a8 i %

(C) wed (D) ¥ & S T

Carbohydrates are

(A) not manufactured by plants

(B) primary source of energy for living things
(C) not essential for human beings

(D) None of these

FHEREGE

(A) Wi grr FfHa TEi g g 1 (B) wfia % forg St & werfies € € |
(C) wrfdi e fofu Jmereaeh i€ | (D) 37 9 i3 T4 |

Genetic Engineering is concerned with

(A) determining genetic code

(B) discovering the inherited traits
(C) alteration of genes of living creatures

(D) None of these

@ﬁﬁ%aﬁ@ﬁma% | oT} SIS
A B ARl
EC)) Tsfia ITfor o SfiFT o T & ng sﬁgﬁéqﬁ

What is tlée gestation perioddfor a goat ? ; ;
(A) 150 days B) 60 days (C) 90 days (D) 120 days
TR o o mwtafy g2

(A) 150 fea (B) 60 fet (C) 90 fex (D) 120 fe
The sky looks blue due to which of the following ?

éA) Sky is actually blue in colour.

B) Sky is the reflection of the sea water so blue.

C) Blue colour of light is of short wavelength so can be scattered by dust
particles and water vapours but not the other colours.

(D) None of these

M 1 & TR HROT 3TThTYT HTaT {C@Ts <l & 2

(A) 3ATHIY aTEde H A TTHT 2 |

(B) 3T STeT ST ITEdH & SHfeTT et 2 |

(C) SehTYT o et T1 <ht dTeed BT Bt &, FSTEeh HHT el HUll 3R STt 9T
Bl Tehdl & oI 3T TT &1 |

L
(D) 319 9 ®E & |
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47.

48.

49.

50.

S1.

S52.

The petrol fire cannot be extinguished with water due to which of the following

reasons ?

(A) Petrol is highly inflammable and water cannot extinguish it.

(B) Petrol breaks water into hydrogen and oxygen and consumes oxygen for
burning.

(C) Water being heavier slips down and petrol comes on the surface and burns.

(D) None of these

{71 o 9 Tord ShI0T UgicT Shi 311 b1 UTHT < 1 &1 SSATAT ST Tehall & ?

(A) TSI ITATIH ST & ST A 36 T I Tl |

(B) Ui U I BIESISH TR ATHASH T dredl 8 3T e o foru srierfis 6
QU AT ? |

(C) w9 B o VT fohered ST 2 3R Ugiet Hag T AT Sl 8 FHL Serdl & |

(D) 3T 8 HIE T |

Why does milk turn sour ?

(A) Some germs are born due to heat

(B) Milk changes into an acetate

(C) Micro-organism present in milk change lactose to lactic acid
(D) Nong of these

T4 @gT 1 & A1 8 ? ’

(A) TTHT % HROT F SATeTY] I &1 I & |

(B) g4 UEiee H weet ST 2 | ’ .
(C) T 3ufEq Hewsfia At bl Afdesh Ufere # wrget od £ |
(D) 319 9 ®E T8 |

Why do we need proteins ?

(A) To build bones

(B) For producing hormones and antibodies

(C) To produce more blood
(D) None of these

BH WA i STTavehal Il gl & 2
(A) TR & fmior o fog (B) &M 3R Ufeamfesh 3cua o o fey
(C) 3ATereh Tk 3= i & foTw (D) ¥ 9 s &l

Lead pencil contains

(A) graphite (B) lead
%Cg) ure carbon (D) None of these

&%ﬂﬁaﬁ?ﬂ% : .
(A) T®IE (B) @ (C) G HreH (D) T 4B &l

Orange contains

(A) VitaminC (B) Vitamin A (C) Vitamin B (D) None of these

Tt 5 B

(A) feafimCc B) fwefimA  (©) fofmB (D) 38 | IS T&

A myopic person cannot see

(A) nearer objects (B) distant objects (C) anything (D) None of these

T AU ST T o@ dhdl & :

(A) frhehiaegd (B) qHIawd () FB+0 (D) ST & IE el
9 Code No. : C-406/2017/Series-A




53.

54.

5S.

56.

57.

58.

59.

Arthritis 1s caused by
(A) inflammation of one or more joints (B) stoppin% of breath

(C) difficulty in breathing (D) None of these
TelrEfeE B 2 . .
(A) Teh A Atk SHSH i Gor o I (B) W o Tehe! o HAUI
(C) Y& H HiSTS o HROT (D) 0 9 HIs &l
Tetanus affects
(A) nervous system (B) human liver
C) skin (D) None of these
w%‘a%m ERIECERCIKS ’
(A) Af=RITA DI (B) AFaIHRd  (C) &=l (D) T & HIE &I
By whom was the Constitution of India adopted ?
(A) Parliament of India (B) People of India
(C) Constituent Assembly (D) None of these

TR o Afere™ ol fopreh grr 3tfiepr femam T o 2
(A) YR H Thg (B) WRAF AN (C) Tlagmadr (D) 398 9 HIg Tl

Which is the final authority for establishing a new state in India ?

(A) State legislatures (B) Parliament
(C) President of India (D) Prime Minister of India
T | 71 U= TATUG v o foru sfam e s 2 2
(A) T faefen (B) TogQ
(C) W = Tgafd (D) R o JeaEEh
Indian Constitution provides for
(A) Dual citizenship (B) Single citizenship
(C) Both (A) and (B) (D) None of these
g JGH Ll &
(A) <l TrTiehdr (B) Tehel NIRRT
(C) (A) 3 (B)gHl (D) 34 ¥ I Tl
Are the fundamental rights justiciable ?
(A) No (B) Yes
(C) Only if legislatures violate (D) Only if executives violate
I Tifeteh IR e & ?
(A) T
(B) =

(C) ohae Ife frenfrept stfashuor st 2 |
(D) had Ffe HrIUTITeRT 3ATThATT hid 2 |

The Indian Constitution is

(A) Rigid

(B) Flexible

(C) Rigid in some cases flexible in others
(D) None of these

WA |iaa™ 8
(A) HR (B) w=fien
(C) S Al § ol A § il (D) 0 d I3 Tl
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60.

61.

62.

63.

64.

65.

How often the Finance Commission is constituted in India ?

(A) Only once (B) Once every year

(C) After every five years (D) After every ten years
TR | for o ferat s fAfdq grar 8 2

(A) heel Th IR (B) W a9 T SR

(C) I Ui ast =h U= (D) I g Tl < I
What does the Executive of the Union of India consist of ?

(A) President (B) Prime Minister

(C) Council of Ministers (D) All of these

VR o G I hrIaT TR fred fireient s g1t 2 2
(A) Tgdid (B) wumw  (C) WHtuiwg (D) s

On what grounds can the President of India be impeached ?
(A) For violation of the constitution

(B) For disobeying the Prime Minister of India

(C) For disobeying Parliament

(D) None of these

YA o UFATA ol Tobel ST W HETIRITTG foha ST Teha & ?

(A) TfauT % Ieetad o fore (B) R o T i 37ar o forw
(C) Twg hl 31a3T = fotu (D) ¥ ¥ IS &l

Who appoints the Chief Justice of India ?

(A) President of India (B) Prime Minister of India

(C) Parliament of India (D) Speaker of India

YA o g <Irnefisr i Fgfh F #ar g ?

(A) WA = qgufd (B) WRd o T

(C) YRd i T&g (D) YR % T

Can a person act as a Governor of more than one state ?

(A) Yes (B) No

(C) For six months only (D) None of these

T Ueh A eh Ueh T 37{ereh TsT o TSIUTA o &Y H h1 hL Tehdl & ?

(A) & (B)

(C) o B: Hfgd = fotw (D) ¥ ¥ IS &l

Who appoints the Chief Justice of a High Court ?

(A) The Governor (B) The Chief Justice of India
(C) The President of India (D) The Prime Minister of India
3 T oh T =Imnefien 6t g oo an g 2

(A) TSIITA (B) YR % J&I e

(C) YR o TgUfd (D) WRA o T
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66.

67.

68.

69.

70.

71.

72.

Who administers the Union territories of India ?

(A) The Lieutenant Governor

(B) The President; regulated by the laws of Parliament
(C) The elected representatives

(D) The Home Minister of India

A h heg ST TSI BT TIE hiH AT g 2

(A) 3U-T=IUTA (B) Tgufd, G o Hi g1 ferfarfi
(C) Tratftaa ufafafa (D) WA o T8 il

When the Planning Commission was setup ?

TSHT STRINT <hl TITHHT e 55 off 2

(A) 1950 (B) 1961 (C) 1969 (D) 1947
Which of the following ladies became Governors of Indian states ?

(A) Sarojini Naidu (B) Vijay Lakshmi Pandit

(C) Rajkumari Amrit Kaur . (D) None of these

11 4 9 o €t aiger ™ TS 6l TsIuTe s+ 2

(A) Tufs Ty (B) forsrreteH ufved

(C) TSHARI 3Td S (D) 8 O His &l

The Rajya Sabha which is the Upper House of the Parliament

(A) has a life of six years (B) is apermanent body

(C) has a life of four years (D) has a life of five years

T |, ST HEE I I e &,

(A) 3@y s: av? | (B) wurt fiehmI 2 |

(C) i afrarRay g | (D) HEfrdaay g |

Normally the interval between two sessions of Parliament should not be more than
(A) Three months (B) Six months (C) 30 days (D) 45 days

HTHT=Id: T9E o &l T3l oh S ol =0 4 & 3Aferes T81 g1 I118T :
(A) =R (B) ®:ufe (C) 30T (D) 45T

Stagflation is

(A) inflation with growth (B) inflation with recession

(C) deflation with growth (D) deflation followed by inflation
TG whifa 8

(A) Ifg s a1 whifa (B) Tt o @1y Thifa

(C) Jfg s a1y JEEhIfd (D) IFaThifd & a1g Thifa

India’s major imports consist of

(A) Industrial manufactured goods (B) Raw material

(C) Agricultural products (D) Only (A) and (B)
YA o & ARG § M 8

(A) 3frenfires ffa aeqe (B) =1 °A

(C) Ffv3eg (D) e (A) 3T (B)
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73.

74.

75.

76.

77.

78.

79.

80.

The Indian budget is divided into

(A) Revenue budget (B) Capital budget
(C) Both (A) and (B) (D) None of these
(A) TS &S H (B) Tlisoied
(C) (A) 3R (B) S (D) TH & T

Which of the following is not the function of Reserve Bank of India ?
(A) Issuing currency notes

(B) Banker to Government

(C) Banker to banks

{(-:?1:); ﬁGliﬁving direct loans to the industries

M |1 i 9 e SR a8 2

(A) HEH TR SR T (B) HThHR hi T
(C) o o T st (D) I ! Jca&T K0T ¢
Which of the following commodities earns the Highest Foreign Exchange for India ?
(A) Coftee and Tea (B) Metal Iron Ore
(C) Iron and Steel | (D) _Clothes
e T 8 i oy TR o for Haifersh fafmg sfSa st 28 2
(A) I IR I (B) g 3R
(C) <iig IR (D) hue
Which of the following measures cannot remove poverty ?
(A) Government subsidies (B) Population Control
%‘(2’ Increase i%%roduction (D) Equitable distribution

H 9 et wrert gro el ot gU AR ferar ST Hehell 2
(A) HEHRT M (B) SHEEAT =0
(C) 3euTed H3fg (D) guTaTqut ferawor

When was the Employee’s Provident Fund Act enacted ?

STt wfesy ffy stffrm se stfufafia gam ¢

(A) 1961 (B) 1952 (C) 1950 (D) 1965
One of the main sources of income for local bodies is

EA) Taxes on income EB) Taxes on commodities

C)_ Taxes on £r0perty . D) Taxes on expenditure
TTeh Tl o foTe 1 T & Teh 3T 1 &9 | & -

(A) IR (B) &GN WA (C) Tufd (D) = WH

Which of the following crops cannot be cultivated in unirrigated lands ?

A) Wheat (B) Sugarcane (C) Bajra D) Groundnuts
1 o © I € e bl il W@Wﬁﬁmﬂfﬁﬁ% ?

(A) T (B) T (C) arT (D) et
Which of the following is the main function of Unit Trust of India ?

(A) Mobilise small savings (B) Giving loans

(C) Imposing tax (D) Collecting tax on agriculture land
1 o 9 B 91 T 8. 37TE. T Th G BRI R ?

(A) BT Sl Sl FTaT ¢l | (B) 3RUT 9EM T |

(C) AT HAT | (D) Y 4 T F TG |
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81.

82.

83.

84.

8S.

86.

87.

Which country is named as ‘The Cockpit of Europe’ ?
%g‘ Hungary (B) Austrla (C) Switzerland (D) Belgium

- '_=|'7[°h|°h|‘4¢ chal \YIICII%?
(A) B (B) ifegn (C) feagsetig (D) sifestm
Which is the brightest planet ?

(A) Venus (B) Pluto (C) Mercury (D) Jupiter
g9 IHEIAT Tg T "1 8 2

(A) Th (B) =& (C) g (D) T®
Rift valley is

(A) Subsidized land leaving a long and narrow opening
(B) A deep valley in the mountains

(C) A valley on the sides of which are huge mountains
D) None of these

T R
(A) yfty, fSreeht g@ e 3 H@ehrol BT & |
(B) wgIfedl H Teh Tl |l
(C) =T, WWWWQ&H‘%% |
(D) T A T
Delta is
(A) Triangular shaped land between its distributaries
(B) The deposited mud

(C) The broken rocks
(D) None of these

TEgE - E :

(A) %ﬁ%qﬁﬁ%aﬁatﬁﬁﬁvﬂamsﬁ{&r
(B) SHI AT hiae

(C) LI

The shortest day is
(A) 24™ December (B) 21% March
(C), 22" December (D) 23" September

ey BieT fead 8
(A) 24fegsm (B) 219H (C) 22 femsx (D) 23 fadsr

What was the former name of Iraq ?

(A) Formosa (B) Siam
(C) Mesopotamia (D) None of these
UTeh hT GUHAT TH =T AT ?

(A) HREET (B) fazmm (C) "EUeHaT (D) 99 9 IS &l

Zodiac is a belt of

(A) 12 constellations (B) All the stars
(C) All the planets (D) None of these
Th ISR :

(A) 12 78 1 (B) @ftamism (C) @ftmEiw (D) T4 A HIE T4l
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88.

89.

90.

91.

92.

93.

94.

9s.

Summer Solstice occurs on

(A) March21  (B) June2l ©)
Sheh—Tshifd it &

(A) 219= & (B) 2150 (C)

September 22 (D) December 22

22 foasr (D) 22 femsx

Huts of snow where Eskimos live are called

(A) Igloo (B) Lagoon (©)
T% 6l FUL!, STET TRl W&d &, el §
(A) T (B) o' ©)

Which is the largest island of the world ?
(A) New Guinea (B) Borneo ©)
fa hI T TSI gI S ATR ?

(A) = (B) wRf33f ©)

Oasis (D) None of these
I (D) T & 1S 7
Greenland (D) Madagascar

BIEIGLES (D) BSTITER

The first Open University in India was established at

New Delhi (D) Madras
3 feeett (D) wgrd

Traders and craftsmen
Original inhabitants of India

SR} TUT BRI
W o e et

Kosala (D) Lumbini
HEA (D) QAfesfl

Near Patna
Near Allahabad

T o THiY

(A) Hyderabad (B) Kota ©)
YA <1 T Tk Tovafeeer™ shal TATud g3t ?
(A) FeUETe (B) =i (©)
Who were Dasyus ?

(A) Priests and teachers (B)
(C) Were rulers and warriors (D)
TR HE Y ?

(A) 9o a1 fierh (B)
(C) o IEeh T AgT A (D)
Where was Buddha born ?

(A) Rajagriha  (B) Magadha  (C)
g hl SIH hHal g1 AT ?

(A) TSR (B) #TE ©)
Where was Nalanda University situated ?
(A) Near Karachi (B)
(C) Near Oudh ’ (D)
reteT forvaformmer™ shaf fera ot ?

(A) U o T (B)
(C) 31ay s @iy (D)

What was Din-i-Ilahi ?
(A) A mosque set up by Akbar (B)

(C) A religious prayer (D)
H-T-gATE /T 2T 2

(A) 3ThsE gRI §4TS T8 Ush qafog  (B)
(C) T enfifes YT (D)

15

SATETEG o qHIT

A religious book
A religious path laid down by Akbar

T it Jeih
TS G T Tk 71T Wk enfifeh ue
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96. What is meant by Sardeshmukhi ?

(A) An officer (B) A tax
(C) A type of organization (D) A type of group
T AT 3 2
(A) T At (B) Th &
(C) WIST =1 Teh ThR (D) HHg 1 Teh JehR
97. Who wrote ‘Ratnavali’ ?
(A) Harsha (B) Banabhatt
(C) Kalidasa (D) None of these
ATt fohe forelt ? .
(A) & (B) dmUTHg (C) ifcrerd (D) STH H I3 T&

98. Somnath Temple was sacked by Mahmud of Ghazni in the year
(A) 1009 AD (B) 1018 AD (C) 1025 AD (D) 1021 AD

&G TSI g fohdl I TIHHTY HiCT T[T 71T 7
(A) 100953, (B) 101834 (C) 1025%.4. (D) 1021%.4.

99. Raja Ram Mohan Roy was not associated with

(A) Remarriage of Widows (B) Abolition of Sati
(C) Sanskrit Education (D) Promotion of English
TS qoTe U9 fohed Tatia 8l 9 ¢
(A) faygar gAfdarg (B) Ty IeH
(C) &ha frem (D) 3TIUSH I ST
100. When was the Shimla Conference held ?
TSmeT ke g8 oft 2
(A) 1945 (B) 1942 (C) 1941 (D) 1944

101. The Indus Valley seals were most probably
(A) meant to signify ownership of property
(B) means of exchange in trade
(C) religious symbols
(D) None of these

ey e 1 gt e HfA T A
(A) Hufa TTfired =l g off | (B) =R ferfmr o1 adiept oft |
(C) enfifes fug oft | (D) 37 A IS &

102. Brahmanas are books that deal with

(A) Astrology (B) Science of sacrifice
(C) Magical incantations (D) Only prayers to the Gods

STV o fehdTel 8 S IR W&l 3

(A) sfas @

(B) sfotgr & femm @

(C) Smg-TH

(D) hacT WTETH ohl shi ST aTedt T3 o
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103.

104.

105S.

106.

107.

108.

109.

110.

Bimbisara belonged to the

(A) Haryanka dynasty (B) Harihar dynasty
C) Girivraja dynasty (D) Anga dynasty
TaEfa o1

(A) E@HaNT (B) & awd (C) fiigwawd (D) amawd
The Buddha can best be described as

(A) theist (B) agnostic (C) atheist (D) materialist
g I U8 €Y Y AT A1 Fohal &

(A) @R (B) 3REET

(C) f&deh (D) g (Hifoeraral)

Who among the following were the first to invade and rule over north-western
India ?

(A) Parthians (B) Kushans

(©) ’Scythia\ms (D) Bacterian Greeks

o 9 ToRE T2 3TTSRAYT hich YA oh SR -UfTeH T O STOHT ST TATRUd fehall 2

(A) dIfRRA (B) NI (C) TR (D) seRfE I
Who regarded God as the ‘Supreme Beauty’ ?

(A) The Sufis (B) The Muslims

&C) The Christians ~ (D) The Parsis

She YT bl “Tali=d Gekal’ o &9 H eI & ?

(A) g8 (B) Hfeem (C) HT (D) T

Why did Muhammad-bin-Tughlaq fail ?
(A) He was not a practical statesman.

(B) He introduced token currency.

(C) He transferred the capital from Delhi.
(D) He was foolish.

HerHe-foH-qiee 91 fawd & 2
(A) o TR Tl & AT | (B) 38 Tk gl AN |
(C) 38 Ty, fooeh @ Haia &t | (D) 98 9@ o |

Which of the following musical instruments was brought by the Turks in India ?

&A) Sarangi (B) Sitar ~ (C) Damru (D) Tabla
(1 | & 9 1 aTe I Teb g WA H I 7 7
(A) |rft (B) faar (C) =& (D) &

Which was the principal spice growing region in India ?

(A) Malabar (B) Cochin (©) Elindukush (D) Calicut
A 1 &I (TG ) THTEAT TS ITel T I qarg?

(A) HTAER (B) = (C) Tegg™ (D) HIfetehe

In the Mughal period, Zamindari was not

(A) hereditary (B) a saleable right
(C) ownership of land (D) mortgageable
HITCTehTel o QNI St T ot |

(A) 9T (B) feshi amg g

(C) ¥ =1 @i (D) Y& () ang
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111. Ivory painting was a speciality of

(A) Marwar school (B) Alwar school
(C) Bundi school (D) Bikaner school
grficid feerhrl weh faferedr 2

(A) TRATE It (B) AR Il (C) & et (D) fiehmr Feft

112. The real name of Swami Dayanand Saraswati was

(A) Uday Shankar (B) Mul Shankar
(C) Shiv Shankar (D) Debapriya
T EATE Tl 1 3ot 7T o1

(A) SR (B) q@IR  (C) Baww (D) @i
113. Where was the Theosophical society founded ?

(A) Calcutta (B) New York (C) Chicago (D) Madras

forseiierer TETEA et T 28 2

(A) Heehal (B) =pih (C) Tmmmm (D) wg™
114. When did the first Indian National Congress meet in Bombay ?

e S T YW YA TP i o3 53 ot 2
(A) 1885 (B) 1886 (C) 1847 (D) 1896
115. Abhinav Bharat Society was formed by
(A) Rashbehari Bose (B) K.T. Telang
(C) Savarkar Brothers (D) Lala Lajpat Rai
T YA THTS <hl T hi 1T off ’
(A) TEfeE | (B) &, de
(C) TR &Y (D) STAT ATSId T
116. W}ﬁch of the following ranges separates the Kashmir Valley from the Indus
Valley ?
(A) Shiwalik Range (B) Pir Panjal Range
(C) Dhaula Dhar Range (D) Great Himalayan Range
ﬁnﬁ@ﬁﬁﬁ%%aﬁamﬁrgaﬁﬁ 3T Lt & ?
(A) Tranfers udasiofi (B) UR-uSTet ydasivft
(C) ietT-e geiasoft (D) 97d feaTe™ wdagmft
117. Cardamom Hills are also known as
(A) Palani Hills (B) Yelagiri Hills
(C) Annamalai Hills (D) Nilgiri Hills
SIS TRTISAT 39 A ¥ off S STt & .
(A) Tt gttt (B) AT q‘g’r%aj
(C) IS YgTieal (D) ol vefeat
118. The most important tributary of the Ganga on its right bank is
(A) Yamuna (B) Ghaghra (C) Gandak (D) Kosi
T G} % SR TR 3hl T HEwqUl 48T 41 & :
(A) IHAT (B) == (C) TvEs (D) il
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119.

120.

121.

122.

123.

124.

125.

126.

Western disturbances originate over the

(A) Mediterranean Sea (B) Indian Ocean

Arabian Sea (D) Bay of Bengal

Wﬁéﬂﬁ formior gren 2

(A) *{ﬁrww (B) fee wEm@mR W

(C) 3IE IR T (D) ST =l WIS W

The Indo Gangetic Plains are mostly made up of

(A) Black soil (B) Alluvial soil

(C) Mountainsoil ] (D) Alpine meadow soil

@é e HeH JATeehea: 89 & :

(A) shrefl gt & (B) weile forgt =6

(C) were fugt = (D) Tedre-=rE Tl =

The oldest mountain range in India is the
(A) Himalayas (B) Vindhyas (C) Shiwaliks (D) Aravallis
Wi <l 8

(A) Tewrerm (B) faex (C) ferericre (D) 3IR&A
Which of the following lakes in India is known for its prawn production ?
(A) Wular Lake (B) Sambhar Lake

&C) Chilka Lake (D) None of these

(= | | WA <hl i 9t 3ie =i Scmred o foru St St 2 2 .
(A) geReied  (B) @ (C) Tueshishier (D) sHEHETE

Seasoning of wood is done to remove

(A) colour (B) bark (C) moisture (D) wounded parts
1 B o ToTT T8 <h WehTS shi STl & ?

(A) T (B) B (Fehdl) (C) ITaal (D) % BT HM

Which of the following dams of India is considered as the highest gravity dam
in the world ?

(A) Bhakra Nangal (B) Hirakud
C) Nagarjunsagar D) Kosi
iy Wwﬁqmmﬁxﬁwwuﬁ% 39 Tocd |4 WM STl & ?

(A) WMEUARE  (B) EHS (C) AMHETR (D) it

India’s position in Jute production in the world is

(A) First (B) Second (C) Third (D) Fourth
S¢ 3eqTe § W <6t farea F feurfer 2
(A) 5 B) fadi= (C) g (D) =g

The term ‘Green Revolution’ stands for

(A) large scale afforestation

(B) large scale reduction in soil erosion

(C) rapid growth in the output of green vegetables

(D) rapld Increase 1n agricultural productivity

ug g shifa” o areqd §

(A) =<HETH TR (B) a@wﬁm&rmw
(C) T afe i shIAEA A AT gG (D) PN TGl § el Fgiadl
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127. Haldia Oil Refinery is situated in
(A) Assam (B) West Bengal (C) Odisha (D) Gujarat
Bloean sTae Reprel fedrd &
(A) HH (B) 4.eMAH  (C) anfesm# (D) TSRIA |

128. The Milky-way

(A) is stationary (B) is not stationary
©) revqlves sometimes (D) never revolves
AT R

(A) ferg) (B) fem? |

(C) H¥fi-eft gt 2 | (D) weft TE gl R |

129. Radar is used in military operations to
(A) Destroy enemy tanks from a distance
(B) Locate enemy positions
(C) Destroy enemy planes from a distance
(D) None of these

=1 giTeH B SR W 2l & -

(A) gl ¥ I o ohi Wl L& i o fe1Q

(B) g hi el ST ot < foTg

(C) T ¥ ST o FATSSIETSI| hi L& i o 1Y

(D) ¥ @ hrg &

130. The instrument in which multiple images are formed is known as
(A) Microscope (B) Kaleidoscope
(C) Epidiascope (D) Periscope

[
[

g U TSTEH §gd SRl ST &, HadTdl o
(A) TSR (B) hefler=hid  (C) Tigmm™=hY (D) ufh

131. Which one of the groups of letters is different from the rest ?

1A T 378 T T AT A A 8 2
(A) BDF (B) LNP (©) QOM (D) RTW

132. As ‘Crime’ is related to ‘Court’, in the same way, ‘Sickness’ is related to which ?
(A) Lawyer (B) Medicine  (C) Doctor (D) Hospital

I AU Ed @ N B 3 WE ) gafud g
(A) THAH (B) c@Ed (C) ST d (D) &ifered ¥

133. In a code ‘MOMENT"’ is denoted by ‘OMOCPR’, then ‘THERMO’ is
denoted in the same code by

freht e § ‘MOMENT” %ied foham T 8 “OMOCPR’ &, @ ‘“THERMO’ 3€

%e W pied foha ST@m

(A) VFGQOM (B) VFGPPM (C) VEGPOM (D) VFGPOM
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134.

135.

136.

137.

138.

139.

140.

If dog is called cat, cat is called lion, lion is called ox, ox is called cock, cock
is called elephant and elephant is called donkey, then tell a farmer ploughs
with which animal ?

(A) dog (B) 11on (C) donkey (D) cock

If¢ Pl ol forect! Sa1 S, foeeft o6l I/, I 1 S, S I AT, T ol greft qen
g1} ohl TTET HET AT, A qdls'\%@mﬂm@@?ﬁ?ﬁm

(A) F (B) W (C) T (D) i
If all the numbers from 1 to 26 which are divisible by 3 are arranged in
ascending order then which number will be at 4™ place from the right ?

1 § 26 < sff=l =l ¥t T, W11 3 9 faTse €, <l STRIE! ohH H T S, 1 gl |
<1 T T I T S ?

(A) 12 (B) 15 (C) 18 (D) 21
Introducing Suman, Sarala said, “His mother is the only daughter of my

mother.” How Sarla 1s related to Suman ?
(A) Nephew (B) Slster (C) Cousin (D) Mother

gr ! T AT U, T S, “FEehl HIAT I HIdT 1 TohAT Tl 8 | T,

g o fohd YR Hafera g 2

(A) wistt (B) w&d (C) haiid (D)

Ram is taller than Shyam, but not as much as Rajan. Arjun is taller than Sohan
who is shorter than Shyam. Who is the shortest ?

(A) Rajan (B) Ram - (©) ArJ'un ‘ (D) Sohan

T, VA G S0 R, TS T 7@ | S, Hle & el 8 S 9w & ol g |
I8 BT D3 ?

(A) TSH (B) ™ (C) 3 (D) ¥

Narendra goes 8 km in the west from a certain point. Then he moves to his

right and goes 8 km. In the end, he goes 25 km in South-East direction. How

far is he from his starting point ?

(A) 10 km 20 km (C) 15km (D) None of these
ﬁg@%tﬁﬁnﬁ 8 feprl =1t | TR arefl 3R Hgeht 8 fepelt =retm |

aTﬁgtﬁa'a'a’F&wT —qd feum & 25 Fopeft =1t | 9 319 e forg @ fera @ 8

(A) 10 foprft (B) 20 foprft (C) 15 Tt (D) gﬁﬁ?ﬁé

¢ < b

If ‘a’” means ‘+’; ‘b’ means ‘—’; ‘c’ means ‘+’ and ‘d’ means ‘x’, then
16a4b3c4d2 =?

Ff¢ ‘@’ 1 HACTs “+’; ‘b’ = HASHS ‘—*; *C’ =l HAwS ‘+” U7 *d’ T HAeS X,
dl 16a4b3c4d2 = ?
21

(A) 10 (B) 17 (C) 185 (D) =

What will come in place of question mark ?

T g o T YT ST 37T 2

B2S, F6P, J14M, ?

(A) N30I (B) M241 (C) N30J (D) P24)
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Directions (Q. 141 to 145) : Choose the most appropriate word out of the four
options (A), (B), (C) and (D) to fill in the blank.

141. Ravi is married a cousin of mine.

(A) with (B) to (C) alongwith (D) off
142. Conversation was carried on whispers.

(A) on (B) by (C) away (D) in
143. With your help, I could tide my difficulties.

(A) away (B) off (C) against (D) over
144. 1 shall stand by you thick and thin.

(A) in (B) into (C) about (D) through
145. The minister has promised to look the matter.

(A) at (B) into (C) for (D) about

Directions (Q. 146 to 150) : Spot the error out of the three sections of a sentence
marked as (A), (B) and (C). If there is no error in the sentence, Mark (D).

146. Iam too glad / to see you looking / well today. / No error
(A) (B) (©) (D)
147, Irespecthim , as | heis my father. , No error
(A) (B) ©) (D)
148. I saw the teacher sitting ,ona desk / in the class. / No error
(A) (B) ©) (D)

149 This roomis / too much small | for six persons. , No error

(A) (B) © (D)
150 The murderer , was ordered / to be hanged by the judge. / No error
(A) (B) (© (D)

Directions (Q. 151 to 155) : Choose the word out of the four options (A), (B), (C)
and (D) which is nearest in meaning to the given word.

151. Abject

(A) castaway (B) mean (C) worthless (D) grovelling
152. Dearth

(A) abundance (B) scarcity (C) vogue (D) end
153. Nadir

(A) height (B) lowest point (C) nullify (D) hopeless
154. Replenish

(A) to spread around (B) to fulfill

(C) toindulge (D) to provide a new supply for
155. Zest

(A) energy (B) weakness (C) gain (D) gusto
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Directions (Q. 156 to 160) : Choose the most appropriate option out of the four
options (A), (B), (C) and (D) which indicates the meaning of the given
idioms/phrases.

156

To rule the roost

(A) to measure the height of something

(B) to measure the depth
(C) to strike with a stick
(D) to dominate

157. Brown study

(A) to study sincerely (B)

(C) deep in thought (D)
158. To be in doldrums

(A) to be in low spirits (B)

(C) to praise loudly (D)
159. Kangaroo court

(A) a group of kangaroos (B)

(C) unofficial court (D)
160. To keep the pot boiling

(A) to maintain interest (B)

(C) to show anger (D)
161. | 316G I T ST @

(A) |IS (B) R (©)
162. ‘ffr R aTom@ 87

(A) Iy (B) &% ©)
163. Teremanfe sues weg 2 ,

(A) 3R (B) =@l (©)
164. foran-fommor 2

(A) 3T (B) W H (©)
165. ®fc v @

(A) TS (B) Hs%h (®)
166. 5 T 2 .

(A) sgEfe  (B) sERES  (C)
167. ‘e’ 1 faudianes

(A) 3ATHIA (B) 3R ©)
168. e’ o1 ferowor 8

(A) wfE (B) ghfem (O
169. ‘Tge1 S0 Tgct 3T 81’ o oT¢ Ueh 9Isg &

(A) ITUST (B) AT ©
170. ‘377@ ¥ TS’ GETeR 1 319 &

(A) @ g (B)

(C) &gd =T oI
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(D)

to study uselessly
practical advantage

to be within doors
to be 1n a crisis

the young kangaroo
unofficial estimate

to heat
to do experiments

g (D) T
Teged (D) wgshife
ED (D) i
a0 (D) U
FTCE (D) rsharfor
JuEieh (D) SN
EE (D) EHH
Tfie (D) dIfereh
ST (D) 3T
BT
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